Dividir por 1, 2,5y 10 (E)

Halle cada cociente.

60 60 22 10 4 90 120 40 35 25
+10 =10 +2 +1 +1 +10 =10 +5 +5 +5
35 90 25 60 18 10 80 120 55 20
+5 +10 +5 +10 +2 +5 +10 =+10 +5 +2
35 25 35 24 24 8 12 10 2 110
+5 +5 +5 +2 +2 =1 +1 =10 +1 =10
4 1 5 45 9 20 12 4 4 18
1 1 =1 +5 +1 +2 2 =1 +1 +2
120 100 60 60 18 25 25 90 5 7
+10 =10 +5 +5 + 2 +5 +5 +10 +1 +1
50 8 25 24 10 30 10 4 30 18
+5 +1 +5 +2 +1 +10 +1 +2 =10 +2
45 25 100 50 10 10 16 22 11 6
+5 +5 +10 =10 +2 =10 +2 +2 +1 +1
20 24 12 12 5 9 22 90 4 45
+5 +2 +1 +2 +5 =1 +2 =10 =1 =5
10 8 18 90 22 6 5 70 40 4
+1 +2 +2 =10 +2 +1 +5 +10 +5 +1
20 6 50 120 45 50 30 20 30 24
+2 +1 +10 =10 +5 +10 =10 +5 +10 + 2

Math-Drills.Com




